Writing Transformations October 03, 2023

Today's Plan:

Learning Target (standard): | will describe functions as composites of
transformations.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Find the domain.
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Find the domain.
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Graph and find the domain and range.
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Transformations:
e Parent Functions:

S =x"

@)= 7]2_,
1= AXL

f(x)=+/x

Transformations: red = outside operation

blue = inside operation
e Order Matters!!

1) reflection over the x-axis “outside" (
£®)=-x" (ex)
£0)=- x>
£60= - x|
£X)=-{x
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2) reflection over the y—a;is "inside" ( P\D
£60) = (-x)
£0=(-x)’
f0=1-x|
£0=A-r

3) vertical stretch or compression ‘"outside"
C>] v byt
0<c<| ve y'e"
£60=Cx°
R =cx’
£ =c x|
=K f(x)==3x
Jorunt. FRI=X
)£0=-%" ry
2)ER0)=-3% va.bd
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C>l
£6)=(cx)*
£0)=(x)?
£6) = ex|
£N=\cex

4) horizontal stretch or compression ‘inside"

0<c<| hsoyT

he. by t

f(x)= —l|5x|
’PGFUY\"- £ =|)\|
D-P()Q:‘\X\ X
2)E6)=-5 W vC by

5)£6)=-3 4| he by

5) shift left or right  “inside"

* if the coefficient on "x" is not 1, factor it out before
determining the shift * X_C.:O

- (xC). FY=(x0).
A b
£0)=| x+c| £00)=|x-c\
~C(X): X+C ‘F(X):{;(f(:

. f(x)=]x-3
f(x):(x+2§
ant. £)=X"  yx2:0 x=2

M()(\:Qa—f)% b G oy 2

f(x)=+6x-3
orunt. £6) = {X
N £6=6x he byt

2 k0= 60-5) ol right &
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6) shift up or down  "outside"
P ~Ctx® down —Cex®
L6 =xrc fe=x"-c
F=xC+C f00=x-C
=+ FO=I-c

)= (X +C W)= {x-C

Assighment:

* Learn the transformations and
the order of them *
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